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1. (12 points) A blue light has a wavelength of 429 nm shines on a sample of cesium.  The ionization energy of cesium is 375.7 kJ/mol.
a. What is the frequency of the blue light?

b. What is the energy of the blue light?

c. Does the blue light have enough energy to ionize cesium?  Justify your answer.
d. If the blue light can ionize cesium, what will be the kinetic energy of the ejected electron?  If the blue light is unable to ionize cesium, what wavelength of light is required to just ionize the cesium?

2. (4 points) Write a possible set of quantum numbers for the following

a. An electron in a 4s orbital

n = ________    
l = ________     
ml = _________
ms = _________
b. An electron in a 7f orbital

n = ________    
l = ________     
ml = _________
ms = _________
3. (4 points) The Schrödinger equation can be solved to give ψ2.  What does ψ2represent?
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